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L 2 1 7 AHRBILAOHEE 0 0 0 0 0 0
L 2 1 1| EREEARELAOE 0 0 0 0 0 0
L 2 1 7 0 0 0 0 0 0
L 2 1 7 0 0 0 0 0 0
L 2 2 1 5098 4923 4,923 4923 4.923| 24,790 EH 150,000 230,000 2300 2300
L 2 2 1 2,904 3817 0 0 o] er21)s EH 150,000 230,000 2199 1760
~—F 2 1 1[ExEEEROZR 20438 41184 29,087 0 o] 90,709 EREDEM (ha) 30 50 50 50
S~ ¥ 2 1 1 EEROEN 1% 20,751 26,315 0 0 0| 47,066 EHEDEM (ha) 20 20 20 20
~—F 2 1 1[ExEEEROZR £X(3) I TS 5,000 0 0 0 o] 5000 WEEDEIM (ha) 30 50 50 50
A= ¥ 2 1 AE EEROEN %) TIFR 1,440 0 0 0 o] 1440 BB (ha) 20 20 20 20
~—F 2 1 1[ExEEEROZR 1,600 900 1,300 28000] 36,120 (ha) 30 50 50 50
EARRR S~ ¥ 2 1 1[EEEEEROER BTSN E R RS E 0 0 0 0 0 (ha) 20 20 20 20
IR ~—F 2 1 6 |BREHORS - ok o R R 14,799 9,500 9,500 9500 60,799 16,126 25,000 211 350
A= ¥ 2 1 6 |mREHORS - EkEEARBEERER 9,501 0 0 0] 20853 16,126 25,000 211 350
A—F 2 1 6 |BREHORS - DEWREEE 17,938 7873 1873 7873 49430
~—F 2 1 6 |BREHORS - AEWEHEE 11,747 0 0 0| 19816 T % -8, —etIs RIER OB 3% L E /5L, - - - -
~—F 2 1 6 |BREHORS - B EEE 25946 17,000 17,000 17,000] 97,029
At 2 1 6 |mREHORS - WEmEER 25,264 0 0 0] 44,956 % BEETHE G, BRIEEOBERL LEH L, - - - -
~—F 2 1 6 |ERFHORS - Bh s ELRERER 3,788 3,000 3,000 3000 16563 1102 10 1102 9.98
~—F 2 1 6 |ERFEHO RS - Eii B ELRERER 3,782 0 0 o] 7.55 1102 10 1102 9.98
L 3 3 5 2V, BORAOEN 577 577 577 577] 2885 [WMAIXESFMERE L TL D PR 2 2 2 2
L 3 3 5 SV, OREDEN 410 0 0 0 920 | AIZHEF A BB L T LB PR 2 2 2 2
L 3 4 6| —ADEYOBRCRBLEEHEN LV XEOKE 5522 5522 5522 5522| 21610 ROLTFELEES, BCONEFH IR 501 750 - -
L 3 4 6] —Avey (CERE L7 E i L 2,749 0 0 0] 5301|EULCFELEES BCONEFH K 501 75.0 - -
J7k 3 7 2|ERFEHEOES 140 140 140 140 700 [ETAOERFERME 149 140 149 118
L 3 7 2 |ERFEHEOESE 140 0 0 0 280 [BTROER F&RME 149 140 149 118
J7k 3 6 3| IREERS 5 S ERRNORE 24,000 24,000 24,000 24,000 24,000] 120,000 R LT E 2 ERAHICH T SRS 433 600 - -
L 3 6 3| WREERS 5 BERRHOR: 16,409 23,923 0 0 0] 40332|Z0CE 2EAMAICHT BHIES 433 600 -
Y7k 3 4 9| RERZE~OHAL  FMEEOXE 500 500 500 500 500 2,500 AR 12 20 4 7
L 3 4 9 |w 498 500 0 0 0 998 |34 12 20 4 7
J7k 3 1 1 3,500 3,500 0 0 o] 3862 412 600 387 38.7
vk 3 1 1 0 55 0 0 0 55 412 600 38.7 38.7




RiBBEEHEREE  KEEOESR)

vk 3 1 1[I <Y B0 HEEDDE BEAE - RARE 145 145 145 145 145 725 [ UE D RIEHK 126 280 262 198
v7F 3 1 1[@F-S < U EED HREDOE BEREE - RAFE 229 229 0 0 0 SEUE DR REEE 126 280 262 198
vk 3 1 1R <Y B 7 X REGUERERE 327 337 326 327 327 MEASERRESHUEBEHBALEDHE 56.0 54.0 540 54.0
vk 3 1 1[@FS < UEED 305 318 0 0 0 5| MEAHERRIESHEELEA S HOTE 56.0 54.0 593 621
vk 3 1 2 26,950 26,950 26,950 26,950 183 50.0| (R3)20.7 125
v7F 3 1 2| RARBNREFEOHE 22520 0 0 0 3 183 50.0| (R3)20.7 125
vk 3 1 2| RARBNEFEOE 2,607 2,607 2,607 2,607 & RRSERVENRFRDE 9.46 115 106 210
v7F 3 1 2| RARBNEFEOHE 3430 0 0 0 & RESERVENRFDE 9.46 115 106 232
vk 3 1 3|BFRROR: 2530 I 2530 2530 2530 & 100 100 100 100
vk 3 1 3|BFREOR: RRDEZEFE 1,941 0 0 0 0 & 100 100 100 100
vk 3 1 3|BFREROKE EFHRRFE 347 347 347 347 347 & 100 100 100 100
v7F 3 1 3|BFREOK: EFHRRFE 318 318 0 0 0 & 100 100 100 100
vk 3 1 3|BFRROKE SHEEERE 70 70 70 70 70 & 100 100 100 100
vk 3 1 3|BFRROK: 70 47 0 0 0 & 100 100 100 100
vk 3 1 3|BFRROR: 16 16 16 16 16 RELES ) 100 100 100 100
vk 3 1 3|BFRROK: 16 16 0 0 0 100 100 100 100
V7 F 3 1 3|BFRROKE 794 794 794 794 794 100 100 100 100
V7R 3 1 3[BT RRO 478 478 0 0 0 100 100 100 100
V7 F 3 1 3|BFRROKE 62 62 62 62 62 100 100 100 100
V7R 3 1 3[BT RRO FARSTE 62 62 0 0 0 100 100 100 84
V7 F 3 1 3|BFRROK: B (RE - ) B TEEBMPE 750 750 750 750 100 100 100 100
V7R 3 1 3 B (BE - —) & TEEBREE 519 0 0 0 100 100 100 100
V7 F 3 1 3|BFRRO%Z FhhEERE 18,662 18,662 18,662 18,662 100 100 100 100
V7R 3 1 3[BT RRO EEFE 0 0 0 0 98 100 100 100
V7 F 3 1 | ERRROTE 1 1,165 1,165 1,165 1,165 235 0 369 0
V7R 3 1 4| ERRROTE LORFS <Y BRI 918 0 0 0 235 0 369 0
V7 F 3 1 AEEE EHERETEFE 100,398 100,898 100,898 100,898 58,353 60,000 49,104 58,223
V7R 3 1 5|EFAEOER BUERETEFE 66,804 0 0 0 58,353 60,000 49,104 58,223
V7 F 3 2 1| Bl RAEERH 0% 4,300 4,800 4,800 4,800 60 60 61 56
v 7k 3 2 1| B RS DR 2,580 0 0 0 60 60 61 56
V7 F 3 2 1| B T RAEERH 0% BRRBHIFERRIR) 1,868,370 1,800,000 1,800,000 1,800,000 LA (8ALLE) oflE 33.40% 45.00% - -
v 7k 3 2 1| B RS DR NERBEHFEERIRH) 1,722,289 0 0 0|3, LA (8ALE) oflE 33.40% 45.00% -
V7 F 3 2 2|7 - RERIY — € NETFY - AR —ERFE, T TIAVA FRE 22310 23,000 23,000 23,000 REFEGML B oY —EANBER 352 198 766 304
v 7k 3 2 2| fi - REEEALY — NEFY - EEZEY —ERFE ST IA PEE 0 0 0 EEFEBMLY, BFY) oY —E2HRE 352 198 564 394
V7 F 3 2 2|7 - BRI — —BABTHEE 1,500 1,500 1,500 528 421 805 824
V7R 3 2 2|7 i - R Y — —BAEFHFE 0 0 0 528 421 805 824
V7 F 3 2 2|7 - BRI — 100 100 100 BEENELTLARBEONE 1 1 1 1
v 7k 3 2 2| - REEMY - 0 0 0 wind s LTV AREDAH 1 1 1 1
V7 F 3 2 2|7 - RERILY — EX0E ROERFE, ERFE 25492 26,000 26,000 26,000| 128,984 |RRY — E ROFIBER 4 325 893 651
V7R 3 2 2|7 R Y — EXOHE ROEREE, ERFE 27,290 0 0 o 8919|REY—CROABER 44 325 893 651
V7 F 3 2 3| RRENE R RAERATIEFE 290 300 300 300 1480 k 211 50.0 211 -
V7R 3 2 e RAERSTIETE 211 0 0 0 365 271 50.0 271 -
V7 F 3 2 dEEHLT Y LREEMORE ENY 5 TEROTEFE 3,440 3440 3440 3440 3440 17,200 RE 498 650 - -
V7 F 3 2 dEEFLTY EREEMORE EAY 5 TEDLEFE 3,385 3,097 0 0 o] 6482 RE 498 650 - -
V7 F 3 2 dEEHVT Y EREEMORE BERUOKL - BIER 1,785 1,785 1,785 1,785 1785 8925 EE 4938 650 - -
V7 F 3 2 dEEFLT Y EREEMORE HERLOEL - B 1,026 741 0 0 o] 1767 RE 498 650 - -
V7 F 3 2 dEEHVTCY EREEMORE EARE 3,720 4,000 4,200 4400 4600] 20920 EE 498 650 - -
V7F 3 2 dEEFLT Y EREEMORE EA RS 2,360 2,164 0 0 o] 502 p RE 498 650 - -
v7k 3 2 5 EaELE 5 OE EABREERARH 2772 2,800 2,800 2,800 2800| 13972 |RREH> A7 AREEK 92 110 84
vk 3 2 5 EaELE 5 e EABREERAHH 2,405 2,155 0 0 0] 4560 [RREH> A7 AREER 92 110 84
V7 F 3 2 5|BEmEIEALLE LT DRE ¥ 2,252 2,300 2,300 2,300 2300 11452|FIAE 92 110 202
V7 F 3 2 5 MOBZFEE 3,620 2,099 0 0 o] s79limEm 92 110 202
v7k 3 3 1[HTE A > HHI DM WL EXERE 5848 5848 5848 5848 5848] 20240 ABEETERAFRABER 217 280 219 217
V7F 3 3 1| TE 2 A > HHIOWE WA AR ERE 5,945 7.210 0 0 0 XEBAPENAEL 217 280 219 217
v7k 3 3 2|BELREEERS BEEAUXEGHIEE 286,050 286,050 286,050 286,050 286,050 1, Y —EXABER 140 142 142 102
7k 3 3 2 EEEES BEEAULEGHFE 278,743 292,159 0 0 0 Y- EXABER 140 142 142 102
v7k 3 3 2|BELREEERS BEERENFE 7,986 7,986 7,986 7,986 7,986 10 1 11 11
V7 F 3 3 2 EEEFRNITE 6,978 3223 0 0 0 10 11 11 11
v7k 3 3 2|BELEEEEESLHOXEOTR SRR 511 511 511 511 511 20 20 19 20
V7 3 3 AEETS hES TR 1,507 1434 0 0 0 20 20 19 20
V7 F 3 3 2 EELYREEBRBERGHEE 1,001 1,001 1,001 1,001 1001 5005[EECHBEEBRBEBGHAK 10 12 12 15
V7F 3 3 2 BELYREEBRBERGHER 682 709 0 0 o] 1391 |EECHEE 3 AR 10 12 12 15
V7 F 3 3 2 BE MR EF AR PR 40 40 40 40 20 BEMAK 0 1 0 0
vk 3 3 2 HEBEE R RN OB R AR 0 0 0 0 0 BB 0 1 0 0
V7 F 3 4 1 NEBAFEE 420 400 400 400 200 2.020[3 2 FoUERER 18 22 15 12
V7 F 3 4 1 INEBAF R 390 320 0 0 0 10|28 2 7R AER 18 22 15 12
v7k 3 4 1 REFY 72,455 72,455 72455 72,455 72455| 362275 RO LTFELEER T B BEE 50.1 75.0 -
V7 F 3 4 1 33 66,840 62,685 0 0 0] 129525|ZLLCFELEE TAREE 50.1 75.0 -
V7 F 3 4 1 BERERIFE 830 2,500 2,000 500 500 2,950[% 2 FUEER 18 22 22 22
J7F 3 4 1 CEESEOME BERETER 390 1,400 0 0 0 390[B2 PR 18 22 10 12
J7F 3 [ 1 TEEFEOME HUREILD 13T 2 BEE KISEAD) 219415 219,415 219415 219,415 219,415[1,097,075 [RLL TF E b EEH, T BEE 50.1 75.0 - -
J7F 3 4 1 XEFEOME LY PRI CLEBRBCHT 2ABE KIFEAET) 170,119 161,583 0 0 0] 331702|ZLLCFELEES, T B BEE 50.1 75.0 -
J7F 3 [ 1 TEEFEOME FEb - FRCLESEMNE 0 2,000 3,000 0 o] s000[zLLTFELEES, T3 HEE 50.1 75.0 -
J7F 3 4 1 XEFEOME FEL  FRCHESENE 0 0 0 0 0 0|ZELLTFELEE T B BEE 50.1 75.0 -
J7F 3 [ 1 TEEFEOME EREBENEREE 0 0 0 0 0 ozbLTFrLEE T B BEE 50.1 75.0 -
V7 3 4 1 CXEFROME EREBENEREE 0 0 0 0 0 ROLTFELEE T B BEE 50.1 75.0 -
J7k 3 [ 1 TEEFEOME APEAEET A CEESE (b9 PELLE) 3,043 3,043 3,043 3,043 3,043 ROLTFELEEH, T3 HEE 50.1 75.0 -
J7F 3 4 1 XEFEOME FAHEAEET A CEESE (b9 PEILLE) 3,043 3112 0 0 0 BOLTFELEES T B BRE 50.1 75.0 -
Y7k 3 4 2 SR LERROKE 500 500 500 500 500 ROLTFELEE T B BEE 50.1 75.0 -
J7F 3 4 2 SORPHEARDE 500 500 0 0 0 ROLTFELEE T B BEE 50.1 75.0 -
J7F 3 [ 3 — T A RBEOB ERFARESERUREDZASE RERBNTENREE) 300 300 300 300 300 ROLTFE T B BEE 50.1 75.0 -
V7 3 4 3 DB ERREEESERUR BE RERBNEENREE) 300 300 0 0 0 ROLTFE T B BEE 50.1 75.0 - -
J7F 3 [ 7 7 — P ABB SR 225 180 135 225 225 990[% 18 22 22 22
V7 3 4 1|FAECHROBANZEOLS 7 v — MSABEIAEE 102 33 0 0 0 135 18 22 10 12
Y7k 3 5 N EENIE 600 600 600 600 600 3,000 487 600 - -
J7F 3 5 1B - EROmE AL 0 600 0 0 0 6003 487 600 - -
Y7+ 3 5 2| w0 % 2MEE (MBIEE) 5175 5,175 5175 5175 5175 25875 51 54 51 54
J7F 3 5 AR HEMHE (HHEE) 5,166 5,098 0 0 0] 10264]3 51 54 51 54
Y7k 3 5 2| w0 % - HEBUBEEWEIE (MBIE%) 23,626 23,000 23,000 23,000 23,000[ 115,626 100 100 100 100
J7F 3 5 2| A0 - 7 AEHEE (HBIE%E) 23,320 23,649 0 0 0] 46969 100 100 100 100
J7F 3 5 3[EEXR BRANES Y b 7— 7 OME 15 EREEE 0 0 0 3,200 o[ 3200 0 0
J7F 3 5 3 BHEFY LT -7 DRE 0 0 0 0 0 0 0 0
J7F 3 6 1R ERHHOF 219 219 219 219 219 1,005 433 600
J7F 3 6 1 [ E A ) 190 175 0 0 0 365 | 20T & BEREHICH T B0 ‘ 433 600 - -
J7F 3 7 B 904,000 904,000 904,000 904,000 904,000(4,520,000 [ ERERFRMAE 1 AL 7 ) ERE 117,765 123,000 479553 302713
J7F 3 7 1 ERRERRSEORSLER 870804 880,033 0 0 01,750,837 [ERBAERBRIMAZ 1 A% % ) ERE 117,765 123,000 479553 302713
L 4 1 1[#REE T 10,738 9,970 12,130 12130 12,130]  57,098|3 96 LBEGAK 78 80 78 68
L 4 1 1zE#A0RE WHE SR E 10,738 9,970 0 0 o] 20708|¥ 6 LBEFER 78 80 78 68
L 4 1 1]z PRREEEFRETY £— P E% 24175 17,937 24175 24175 20175| 114,637 [ 1 pny £— FRAK 13 13 13 13
L 4 1 1 PRREEEFRATEY £ FEX 20973 19,603 0 0 0] 40576 npzro v 13 13 13 13
L 4 1 1 951 951 951 951 951  4755| R@mAmss 11 10 0 10
L 4 1 1 0 496 0 0 0 496 | RERA RIS 11 10 0 11
L 4 1 1 400 400 400 400 400[ 2,000 |Bpdses 100 100 100 100
L 4 1 1 Y REBHER 628 1,400 0 0 o] 2028 100 100 100 100
L 4 1 1 BEASENER 760 760 760 760 3:800 100 100 100 100
L 4 1 1 BEASENER 832 0 0 I EES 100 100 100 100
L 4 1 1 4,768 4,768 4,768 4,768| 22592 [~ DALTREAM 1 1 1 1
L 4 1 1 4,410 0 0 0] 8782|m~oATREAM 1 1 1 1
L 4 1 1 53,502 48,955 48,955 48955| 264,665 |mAMAE (5&) 228,130 493,000 494,303 485,649
V7 k 4 1 1 53,015 0 0 0| 105812 |BAMEAE (REH) 228,130 493,000 494,303 485,649
L 4 1 e 39943 41434 41434 41434] 201984 [mERAE (hEH) 90,490 233,000 233811 216,977
V7 k 4 1 1 38,503 0 0 O 74671 |BAMEAE (REH) 90490 233,000 233811 216,977
L 4 1 2 48 48 48 48 200[27—NH—F - V—H—REAH 1 1 1 1
L 4 1 2 R7—NA—FU—F—F% 48 0 0 0 96|27 —nti—F - V-x—REAH 1 1 1 1
Y7k 4 1 3 Fr U THEBE 451 451 500 500 2353 Mo n 4 B EBICHY EHEVEBSTLAFELORIS 50.55 68 53.93 =
L 4 1 3Fv 446 0 0 0 it 275 B BB EBoTVBTFELDES 50.55 68 5393 -
L 4 1 HE nEE 375 375 375 375 187557 1 PEMAK ENAR) 644 800 588 692
L 4 1 3Fv 369 310 0 0 0 I T T 4 TEBMA GENAE) 644 800 588 692
L 4 1 HE RO LER 135 135 135 135 135 T4 - RV MOEEBEED L TREE RO L ORI S EfT> TLAFEORIE 2/: 2/2 2/ 2/2
L 4 1 3[xvuTHEOR 2L ER 123 117 0 0 0 DI D LT Bk BEBET > T EFHOBE 2/2 2/2 2/2 2/2
L 4 1 4| CTERTHRILZY — s BHER 21,503 13533 13,533 49533 13,533 L PC-27Lybho| CTHEEME1EMLEAL L6 FEQRE, 37 100 56.7 72
R V7 4 1 4| I CTERTHRE — s BER 11,901 10870 0 0 0 L PC-B7Lybhen| CTHEEEIELLERLE 6 FE0H 3.7 100 55.7 2
ES Y7 4 1 4| ABEEREARZ OE 338 607 762 0 0 10 10 6 20
X L 4 1 4| ERBERERZ O 268 555 0 0 0 10 10 6 20
B Y7 4 1 5 — SRR 19,190 18,286 18,286 42,286 18,286 L PC-27Ly hAED | CTRELE1 AN EEALE LA, 182 100 75.7 977
S V7 4 1 5 —SEfER 9,567 8,212 0 0 0 PC-47Lybieo| CTHEEMEIEULERLLIFEONE, 182 100 757 977
EY Y7 4 1 6 24,867 24,867 24,867 24,867 24,867 faRICH 1 B MBEHREAE 1&H) 411 45 412 289
S V7 4 1 6 21,385 26,208 0 0 0 GRICH U D EEHTEAE QLRH) a1 45 412 289
2 Y7 4 1 7 FTTELI57) 10,686 10,200 10,200 10,200 10200] 51486446 L o 5 THIAESH 2 100 91 72
S V7 4 1 7 TTELI57) 9,723 12,056 0 0 o] 211ms[4 oLy s HmERER 72 100 91 72
2 Y7 4 1 7 (b T ELHE) 3,500 3,500 3,500 3,500 3500] 17500 [hire & < b SHAEHHK 39 80 63 44
2 V7 4 1 [E 4,697 4,603 0 0 o] 9300[prtE<oinmERES 39 80 63 44




AiEBEHEREE

ES)

FHEO:

E53< YA [stE V7 E 4 2 6 | EBRL I LI AH DB AL 7a— L AMBREE 1,000 1,000 1,000 300 125 87

539 PEL 4 2 6 | BRI LI A D) Ja— L AMBRFE 0 0 0 300 154

EEPBE 7k 4 2 1 HERREFE (PRARE) 1,500 1,500 1,500 30,000 30,000

EEPBRE 7k 4 2 1 FE (PR 0 0 0 30,000 19,180

EEPBE V7 4 2 1 HEEE (b—<3) 5,400 5,400 5,400 8,500 8,500

EEPBRE 7k 4 2 1 HEEE (b—<3) 0 0 0 8,500 6,085

EEPEE 7k 4 2 1 11,000 11,000 11,000 12,000 12,000

EEPEE 7k 4 2 1 0 0 0 12,000 6,473

EEPBE V7 4 2 1 (B)IRARE) 4,200 4,200 4,200 30,000 30,000

EEPBRE 7k 4 2 1 (B)IHRARE 0 0 0 30,000 19,180

EEPBE v7k 4 2 1|2 B (BEEHBERARE) 4,500 4,500 4,500 30,000 30,000

EEFE V7 E 4 2 12 HE R (BER X AR 0 0 0 30,000 19,180

EEPBHE 7k 4 2 1 (Fild XA RE) 3,500 3,500 3,500 30,000 30,000

PR 7k 4 2 1 (FldE R RE) 0 0 0 30,000 19,180

EEPBE V7 4 2 1 (ERPERRE) 4,600 4,600 4,600 30,000 30,000

EEPBE 7k 4 2 1 (ERPELARE) 0 0 0 30,000 19,180

EEFEE Y7k 4 2 1 KR AREE 5,050 5,050 5,050 30,000 30,000

EEPBR Y7k 4 2 1 (RIHERAREE) 0 0 0 30,000 19,180

EEFEE Y7k 4 2 1 (RIBEEARE) 4,900 4,900 4,900 30,000 30,000

EEPBR 7k 4 2 1 # (N)IBEARR) 0 0 0 30,000 19,180

EEFER Y7k 4 2 1 170 170 170 12,000 12,000

EEYESR Y7k 4 2 1 0 0 0 12,000 6,473

EEFER Y7k 4 2 1 5,300 300 5,300 12,000 12,000

EEPBR Y7k 4 2 1 0 0 0 11,687 [£EYBEE~DSMHEH 12,000 6,473

CEFER Y7k 4 2 2 EEE AP 750 750 750] 3750 SEFRBE~OSHER 12,000 12,000

EEFER V7F 4 2 2 B0 7 LOERE AR 0 0 0 A 12,000 6473

EEFER Y7k 4 2 2 EEFB/ 077 LOBRE 270 270 270 12,000 12,000

EEYESR Y7k 4 2 2 B70Y 7 LOBHERE 0 0 0 12,000 6,473

EEFEE Y7k 4 2 3[EEEDAMRL BRSO EBRE 220 220 220 12,000 12,000

EEFER V7F 4 2 3[EEEOAMRL BESOEDRE EEFEAETFE (EEFEAMAS) 0 0 0 306 | £ EFRBE~OSMER 12,000 6473

CEFER Y7k 4 2 [ FBRROER BRET b HEHETR 1,200 1,200 1,200 1200 6.000[h5 LBRmEHR 80 80

EEPBR Y7k 4 2 4|2 EREDER BT C b RERERE 962 0 0 0 1,866 | H 5 L ~BARKEEH 74 80 72 57

CEFER Y7k 4 2 5[e XAV X BAAL 0 200 200 200 800 [e X F— Y ~DEIEHR 200 40 100

EEPBR Y7k 4 2 5le —VICL B 7 136 0 0 0 491 |[eRF— Y ~DEMFH - 200 100 90

EEFEE Y7k 4 2 6 | BB IHIG L AH DB 250 250 250 250 250 1250 | EBSATFEANOBIE 238 300 125 125

EEFER V7F 4 2 6 | EBALI G L A OB 109 63 0 0 0 172 | EFRAFRA~OEMER 238 300 154 87

EEFEE Y7k 4 3 1[BHaAR—VEHOBREE 200 200 200 200 200]  1,000|FERROIBER 30000 30,000 30,000

EEPBR Y7k 4 3 1| Zka 2R —VEHOYREE 200 324 0 0 0 HER DR 30000 11,449 26,595

EEFER Y7k 4 3 1[BHRAR—VEHOBREE 950 950 950 950 950 SR OARHR 30000 30,000 30,000

EEPBR Y7k 4 3 1| 3ka 2R —VEHOYREE 567 539 0 0 0 HER R B 30000 11,449 26,595

CEFER Y7k 4 3 1[BHaAR— Y EHOBREE 930 930 930 930 930 SR OARHR 30000 30,000 30,000

EEPBR Y7k 4 3 1| a2 A -V EHOEREE YALOXHE 880 783 0 0 0 30000 11,449 26,595

EEFEE Y7k 4 3 1[BHaAR—VEHOBREE FREKE DR 400 400 400 400 400 ERDBRAE—Y - 3 506 600 -

EEFER V7 F 4 3 E =V BB DB RIEE FREKEDRF— 245 251 0 0 0 EFD B A= EE 506 60.0 -

EEFER V7 F 4 3 1 —VEHOBRIEE 2HEER 670 0 670 0 670 RE 506 600 -

EEFER V7 F 4 3 1 — Y EHOBRITE SHEER 0 0 0 0 & B A= EE 506 600 -

EEFER V7 F 4 3 1 =V BB DB RIEE RREHFE 1,600 1,600 1,600 1,600 —VREOBE [ 6 [ 18

EEFER V7F 4 3 E — Y EHOBRITE REEEFR 4113 0 0 0 —VREOBRE [ 6 [ 18

EEFER V7 F 4 3 2[f EHBE - 0 0 0 0 9 10 9 9

EEFER V7 F 4 3 2 S - 0 0 0 0 0 9 10 9 9

EEFER Y7k 4 3 3 - AWER BRAERR 6,500 6,500 6,500 6,500 6,500 32,500 [FBREDTIAE 25,082 30,000 30,000 30,000

EEFER V7F 4 3 3 AWER EEES 8579 11,807 0 0 0| 20386 | FERBROIBER 25,082 30,000 11449 16641

EEFER Y7k 4 3 3 - AWER EREKT - VEBEEFE 35,000 35,000 35,000 35,000 35,000] 175,000 | B RO TIAE 28371 30,000 30,000 30,000

EEFER V7F 4 3 3 - BWER ERNEKT—LE E 38426 0 0 0| 79124 |pERBROIBER 28,371 30,000 22650 9954

EEFER Y7k 4 4 1[E6 - X{LEp, BEEOER ERACBRED 200 200 200 200 1,000 XfEBEEOEREER 49 55 55 55

EEFER V7F 4 4 1[0 - XLEE, BEEOAMR EX AR AR TR R 200 0 0 0 200 | XA EDEEO SRR 49 55 40 a2

EEFER Y7k 4 4 1[0 - X{LEe, BEEOER CLREFE 200 200 200 200 EEE D BB 49 55 55 55

EEFER V7F 4 4 1[0 - XLEE, BEEOAR 34 0 0 0 THCEDE D EREER 49 55 40 a2

EEFER Y7k 4 4 1[E6 - X{LEf, BEEOBR 400 400 400 200 2,000 [ XA EBEEOEBREER 49 55 55 55

EEFER V7F 4 4 R e 180 0 0 0 516 [ {LEE D EBEEH 49 55 40 a2

EEFER Y7k 4 4 2| ZiLH O RERUBEFRROIE 250 250 250 250 250 XA REERE OB 3 4 4 4

EEFER V7F 4 4 2[XMORER ROHE 1440 262 0 0 0 L REE A2 OB 3 4 3 2

EEFER Y7k 4 4 3| iR 0iER 3,100 3,100 3,100 3,100 3,100 READEHR 1 2 2 2

EEFER V7F 4 4 3| ibr 0iER 3469 3402 0 0 0 EREAOEH 1 2 1 1

EEFER ~=F 4 2 1[EFARERED 3,000 2,500 4,000 3,000 2,500 EAAIAER 27372 30,000 30,000 30,000

EEFER AoF 4 2 1[iE2naEe i 3 0 966 0 0 0 966 | A ERIE~TIAEL 27372 30,000 19,180 29,445
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